
Fundamental MisalignmentFundamental Misalignment

Misalignment is likely to persist.Misalignment is likely to persist.

Is the underlying current accountIs the underlying current account——
stripped of temporary or cyclical factorsstripped of temporary or cyclical factors——
in equilibrium?in equilibrium?

Misalignment is significant. Misalignment is significant. 

The judgment of The judgment of ““fundamental fundamental 
misalignmentmisalignment”” needs to be needs to be ““beyond any beyond any 
reasonable doubtreasonable doubt””. . 


